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NEW QUESTION 1
- (Exam Topic 1)
Which command allows you to execute operational mode commands while in configuration mode?

A. activate
B. show
C. run

D. set

Answer: C

NEW QUESTION 2
- (Exam Topic 1)
Which statement is true about a virtual router routing instance?

A. It can be used for Layer 3 VPN implementations.

B. It can be used to create a separate routing table.

C. An interface in the routing instance can also reside in the default routing instance.
D. It automatically has import and export policies applied.

Answer: B

NEW QUESTION 3
- (Exam Topic 1)
What are two benefits of class of service (CoS)? (Choose two.)

A. CoS can increase the performance of a slow network.
B. CoS can manage traffic congestion

C. CoS can prioritize latency-sensitive traffic

D. CoS can increase network bandwidth.

Answer: BC

NEW QUESTION 4
- (Exam Topic 1)
By default, which Junos directory contains the primary syslog file?

A. Ivar/syslog
B. /var/lhome
C. /var/log
D. /var/tmp

Answer: C
NEW QUESTION 5

- (Exam Topic 1)
Click the Exhibit button
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Referring to the exhibit, which statement is correct?

A. Traffic destined to 10.10.102.0/30 will be forwarded to 10.10.101.1.

B. Traffic destined to 10.10.102.0/30 will be load-balanced across both next hops.
C. Traffic destined to 10.10.102.0/30 will be silently dropped.

D. Traffic destined to 10.10.102.0/30 will be forwarded to 10.10.4.2

Answer: D

NEW QUESTION 6
- (Exam Topic 1)
Which two statements about login classes are correct? (Choose two.)
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A. Login class permissions can be overridden for certain commands.
B. Users can be members of multiple login classes.

C. Login classes define access privileges for a user.

D. There are no system-defined login classes.

Answer: AC

NEW QUESTION 7
- (Exam Topic 1)
Click the Exhibit button
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Referring to the exhibit, what will happen to traffic that is less than the bandwidth limit from source address 1.0.0.207

A. The traffic will be discarded by the policer.
B. The traffic will be accepted by term 2.
C. The traffic will be discarded by term 1.
D. The traffic will be accepted by term 1.

Answer: D

NEW QUESTION 8
- (Exam Topic 1)
You are asked to determine when a Junos device was booted Which command would you use to obtain this information?

A. show system statistics
B. show system commit

C. show system information
D. show system uptime

Answer: D
NEW QUESTION 9

- (Exam Topic 1)
Click the Exhibit button

M Exhibit

user@router> show syastem alarmas

1 alarms currently active
AlArE Tim -ians Descripticon
2021=-08-1€ 23:45:17 UTC Minor HRescue configuraticn 18 not asat

Which command will solve the problem shown in the exhibit?
A. user@routert# request system configuration rescue commit
B. user@router> request system configuration rescue save

C. user@router# file copy current /config/rescue.conf

D. user@router> file copy current /config/rescue.conf

Answer: B
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NEW QUESTION 10
- (Exam Topic 1)
Click the Exhibit button

M\ Exhibit

uper@routerd show protacals isld display swt

pet protcdcls iais traceacpticny file ia-1p-.icoQgP.log
pat protocols isis traceopticns flag hells

set protocals isis tracecpticns flag pachets

set pretscals isis tracecpticns flag nermal

et proTocols 18ip Jevel . disabls

set protocolay ifaie interface $e-0/0/0.0 point-to-point

You are capturing logs to troubleshoot an issue with I1S-IS; however, the logs are increasing in size too quickly.
Referring to the exhibit, which configuration statement would solve this problem?

A. set protocaols isis traceoptions flag hello detail

B. set protocols isis traceoptions file files 10

C. delete protocols isis traceoptions flag normal

D. delete protocols isis traceoptions file is-is-logs.log

Answer: A

NEW QUESTION 10
- (Exam Topic 1)
Which layer of the OSI model does a router use to make forwarding decisions?

A. Layer 3
B. Layer 4
C. Layer5
D. Layer 2

Answer: A

NEW QUESTION 11

- (Exam Topic 1)

You are asked to configure a Junos device to perform regular configuration backups
Which feature will you configure under the [edit system) hierarchy to accomplish this task?

A. archival

B. backup-router
C. syslog

D. tracing

Answer: B
NEW QUESTION 12

- (Exam Topic 1)
Click the Exhibit button
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Referring to the exhibit, you are unable to reach devices in the 172.19.25.0/28 subnet.
What should you do to solve this problem?

A. Enable the ge-0/0/2 interface.

B. Enable the ge-0/0/2.2 interface.
C. Enable the ge-0/0/2.0 interface.
D. Enable the ge-0/0/2.1 interface.

Answer: C
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NEW QUESTION 13
- (Exam Topic 1)
Click the Exhibit button.

M\ Exhibit

Referring to the exhibit, which statement is correct?

A. The device will attempt to authenticate using the local database if RADIUS and TACACS+ are unresponsive.

B. The device will never attempt to authenticate using the local database.
C. The device will attempt to authenticate using RADIUS and TACACS+ at the same time.
D. The device will randomly select the authentication method used for each new login attempt.

Answer: B

NEW QUESTION 14
- (Exam Topic 1)
Which two statements about the configure exclusive command are correct? (Choose two.)

A. The command excludes other users from editing the configuration.

B. The command retains all uncommitted changes when exiting exclusive mode

C. The command causes the loss of all uncommitted changes when exiting exclusive mode
D. The command allows multiple users to edit private copies of the configuration concurrently.

Answer: AC

NEW QUESTION 19
- (Exam Topic 2)
Your firewall filters are not in the correct order, what would solve this problem?

A. Use the next-term action to force an evaluation of the next-term

B. Use the commit parameter to ensure that terms are evaluated correctly
C. Use the reject action to change the action of the filter

D. Use the filter command to reorder the terms with the filter

Answer: D

NEW QUESTION 23
- (Exam Topic 2)
What is the initial prompt displayed when logging in as the root user?

A. root@router>
B. root@router%
C. root@router#
D. root@router*

Answer: B

NEW QUESTION 27

- (Exam Topic 2)

Click the Exhibit button.

user@router> show interfaces terse | match ge-
ge-0/0/0 up up

ge-0/0/1 up up

'-Ir-.!_r':'.l'llllll'lf-l i-{.l ”]I ']E:' i!-."h:r. ]..-'r?q:?r - i.{':l][u:l:-'.;'lll;'f."q

ge=-0/0/2 up up

ge-0/0/2.0 down up inet 172.40.1.2/24

Referring to the exhibit, which logical interface is able to forward IP traffic?
A. ge-0/0/0

B. ge-0/0/2.0

C. ge-0/0/2

D. ge-0/0/1.0

Answer: D
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NEW QUESTION 28
- (Exam Topic 2)
Refer to the exhibit.

user@router> show rip statiatica
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A customer reports that they have recently lost connectivity to a remote site over a shared architecture. Referring to the exhibit, what is the problem?

A. The remote link is down.

B. The remote router has been powered off.

C. The authentication method or key has been changed.
D. The remote site router has been configured for OSPF.

Answer: C

NEW QUESTION 30
- (Exam Topic 2)
user@router>

*** System shutdown message from user@router ***

System going down at 08:28

The system will be powered down in 10 minutes for maintenance.

user@router>
While working on a Junos device, you receive the message shown in the exhibit. In this scenario, what should you do to stop the shutdown process?

In this scenario, what should you do to stop the shutdown process?

A. Issue the request system halt in 0 command

B. Issue the request system power-off in 0 command

C. Issue the clear system reboot command
D. Issue the clear system commit command

Answer: C

Explanation:

https://www.juniper.net/documentation/en_US/junos/topics/reference/command-summary/clear-system-reboot.h

NEW QUESTION 34
- (Exam Topic 2)

Which command verifies configuration syntax without applying the changes?

A. commit and —quit
B. commit check

C. commit comment
D. commit confirmed

Answer: B

NEW QUESTION 39
- (Exam Topic 2)
Which command allows you to view the raw packet data of interface ge-1/0/5?
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A. monitor interface traffic ge-1/0/5
B. monitor traffic interface ge-1/0/5
C. show interface ge-1/0/5 media

D. show interface ge-1/0/5 extensive

Answer: B

NEW QUESTION 42
- (Exam Topic 2)
Which two statements describe IPv4 default behavior for BGP? Choose Two

A. All Active BGP routes are exported to configured EBGP neighbors
B. All BGP routes are exported to configured EBGP neighbors

C. All BGP routes are imported into the inet.0 routing table

D. All BGP routes are imported into the inet4.0 routing table

Answer: AC

NEW QUESTION 46
- (Exam Topic 2)
Exhibit.

You have the policy configuration shown in the exhibit applied to your BGP peering. You find that your customer routes coming from the 10.1.1.0/24 network are

being rejected.
Which command should be used to correct the problem?

A. [edit policy-options policy-statement my-policy] user@router# insert term 1 before term 2
B. [edit policy-options policy-statement my-policy] user@router# insert term 2 before term 1
C. [edit policy-options policy-statement my-policy] user@router# copy term 2 to term 0

D. [edit policy-options policy-statement my-policy]

Answer: B

NEW QUESTION 51
- (Exam Topic 2)

You are considering to upgrade from 19.1R1 and want to ensure that only bug fixes are included. Which two software versions should you use in the current

situation? Choose Two

A. 19.3R2
B. 19.1R3
C.19.1R1-S2
D. 19.3R1-S1

Answer: BC
Explanation:

R release : Maintenance and introduce bug fixes
*19.1R1 ==> 19.1R2 introduces only bug fixes 19.1R1 ==> 19.2R2 Introduces new features

NEW QUESTION 53
- (Exam Topic 2)
Click the Exhibit button.
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[edit protocol ospf]
user@router# show
traceoptions {

file ospf-trace size €4k files 5 no-world-readable;

flag event detail;
flag error detail:;

}
area 0.0.0.0 {
interface ge-0/0/0.0;
interface ge-0/0/1.0;
}

Which statement is correct regarding the configurration shown in the exhibit?

A. When the ospf-trace file has created five files, it will stop logging additional information.

B. When the ospf-trace file reaches the 64 KB file size, it is renamed and begins a new file.
C. The ospf-trace file will automatically replace any existing trace file with the same name.

D. Timestamp information will not be included for each line of ospf-trace

Answer: B

NEW QUESTION 56
- (Exam Topic 2)
In which directory the traceoption files stored by default?

A. Ivar/db/

B. /vartmp/
C. Ivar/log/
D. /var/home/

Answer: C

NEW QUESTION 59
- (Exam Topic 2)
What are three interface prefixes for a 40-gigabit interface? (Choose three.)

A. et
B. es
C. fte
D. xe
E. xle

Answer: ABE

NEW QUESTION 62
- (Exam Topic 2)
Exhibit:
user@rﬂutfer} show route
inet.0: 5 destinations, 5 routes (5 active, 0 holddown,

+ = Active Route, - = Last Active, * = Both
10.210.0.0/16 *[Static/5) 1lw0d 20:17:39

> to 172.25.11.254 via fxp0.0
172.18.6.0/30 *[Direct/0) 00:00:30

> via ge-0/0/0.0
17/2.31.20.0/24 *[BGP/1/70]) 00:00:24, localpref 100

0

AS path: 65000 I, wvalidation-state:

> to 172.18.6.1 via ge-0/0/0.0
to 172.18.7.1 via ge-0/0/1.0
[BGP/170]) 00:00:24, localpref 100

AS path: 65000 I, validation-state:

> to 172.18.7.1 via ge-0/0/1.0
172.31.17.0/24 *[OSPF/150) 00:00:25, metric 1

> to 192.1€68.11.2 via ge-0/0/4.0

[BGP/170] 00:00:24, localpref 100

AS path: €5000 I, validation-state:

> to 172.18.6.1 via ge-0/0/0.0
to 172.18.7.1 via ge-0/0/1.0
[BGP/170] 00:00:24, localpref 100

AS path: 65000 I, validation-state:

> to 172.18.7.1 via ge-0/0/1.0
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You notice traffic destined to 172.31.17.0/24 is traversing an OSPF path rather than BGP Path.
What is causing this behavior?

A. The 172.31.17.0/24 BGP route is missing a valid default next hop
B. The 172.31.17.0/24 BGP has a higher route preference

C. The 172.31.17.0/24 route does not have a valid BGP entry

D. The 172.31.17.0/24 BGP route’s outgoing interface is down

Answer: B

NEW QUESTION 63
- (Exam Topic 2)
Which two keystrokes will auto-complete a command? (Choose two.)

A. Esc
B. Tab
C. Spacebar
D. End

Answer: BC

NEW QUESTION 66

- (Exam Topic 2)

Exhibit:

... Hit [Enter] to boot immediately, or space bar for command prompt. <user

presses Spacebar> Type '?' for a list of commands, 'help' for more detailed

help. loader> boot -s

... Enter full pathname of shell or 'recovery' for root password recovery or
RETURN for / bin/sh: recovery

Refer to exhibit, What will be the result?

A. The device will boot in a multi-user mode at the configuration prompt
B. The device will boot in a Single-user mode at the operational prompt
C. The device will boot in a multi-user mode at the shell prompt

D. The device will boot in a Single-user mode at the shell prompt

Answer: A

NEW QUESTION 71
- (Exam Topic 2)
What is the minimum system-defined user class required to issue clear commands?

A. read-only
B. super-user
C. operator
D. authorized

Answer: C

NEW QUESTION 74

- (Exam Topic 2)

You have configured logging to the console port but are uncertain of the impact to the device while troubleshooting.
In this scenario, which command would allow you to minimize the impact?

A. commit synchronize comment troubleshoot
B. commit confirmed 1 comment troubleshoot
C. set system svsloq console any none

D. set system svsloq log-rotate-frequency 15

Answer: C

NEW QUESTION 78
- (Exam Topic 2)
Depending on the device type, Junos is built upon which two OS kernels? (Choose two.)

A. NetBSD
B. FreeBSD
C. Linux

D. OpenBSD

Answer: BC
NEW QUESTION 82
- (Exam Topic 2)

You have received a request from the user, SecurityTeam, to notify their terminal connection only when someone commits a change to the configuration of a
specific networking device. Which command would you input in this scenario?
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A. set system syslog user SecurityTeam change-log alert

B. set system syslog user SecurityTeam change-log any

C. set system syslog user SecurityTeam interactive-commands any
D. set system syslog user SecurityTeam interactive-commands

Answer: B

NEW QUESTION 85
- (Exam Topic 2)
Which two features are implemented on the Packet Forwarding Engine? (Choose Two)

A. Chassis Management
B. Firewall Filters

C. Class of Service

D. Routing protocol update

Answer: BC

NEW QUESTION 87
- (Exam Topic 2)
What is responsible for processing multicast transit traffic?

A. Control plane

B. Management plane
C.RE

D. PFE

Answer: D

NEW QUESTION 92
- (Exam Topic 2)
Click the Exhibit button.

userfrouterd run show route

inet.0: 8 destinations, 10 routes (8 active, 0 holddown, 0 hidden)

+ = hctive Route, - = Last Active, * = Both
0.0.0.0/0 *[BGP/170] 00:00:24; localpref 100
AS path: €5000 I, validation-state: unverified
> to 172.18.6.1 via ge-0/0/0.0
to 172.18.7.1 via ge-0/0/1.0
[BGP/170] 00:00:24, localpref 100
A5 path: &5000 I, wvalidation-state: unverified
> to 172.18.7.1 wvia ge-0/0/1.0

0
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*[BGR/170) 00:00:24, localpref 100
AS path: 63000 I, validation-state: unverified
> to 172.18.7.1 via ge-0/0/1.0
[BGP/170) 00:00:28, localpref 100
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A3 path: 802 5512 3318 €5000 I, walidaticn-state:

> to 172.18.6.1 via ge-0/0/0:0
162.168.1.1/32 *[OSPF/10] 00:00:25, metric 1
> to 192.168.11.2 via ge-0/0/4.0
192.168.80.1 0] 00:00:24, localpref 100, from 172.18.6.1
ath: 65000 I, validation-state: unverified
72.18.6.1 via ge=0/0/0.0
2:.18.7.1 via ge-0/0/1.0
00:24, localpref 100
AS path: €5000 I, walidation-state: unverified
> to 172.18.7.1 via ge-0/0/1.0
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224.0.0.5/32 *[OSPF/10] 00:01:11, metric 1
MultiRecw
What is the next hop for a packet destined to 192.168.80.98 as shown in the exhibit?

A. 192.168.11.2
B.172.18.6.1
C.172.25.11.254
D.172.18.7.1
Answer: D

NEW QUESTION 94
- (Exam Topic 2)
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What are two examples of transit traffic? (Choose two.)

A. SCP traffic that is destined for the router's loopback interface.

B. SCP traffic that enters one interface and exits another interface on the local router.

C. SFTP traffic that enters and exits the same interface on the local router.

D. SFTP traffic that enters one interface and is destined for another interface on the local router

Answer: AD

NEW QUESTION 95
- (Exam Topic 2)
Which two statements about the Junos OS are true? (Choose two.)

A. It uses a different software source code base for each platform.
B. It supports Java for automation on all platforms.

C. It supports XML for automation on all platforms.

D. It uses the same software source code base for all platforms.

Answer: CD
NEW QUESTION 96

- (Exam Topic 2)
What are three valid software release designations for the junos OS? (Choose three.)

moow>»
WN DX

Answer: ABE

NEW QUESTION 100
- (Exam Topic 2)
Which routing table is used for multicasting forwarding cache?

A. Inet.3
B. Inet.0
C. Inet.1
D. Inet.2

Answer: C

NEW QUESTION 101
- (Exam Topic 2)
Which statement is correct regarding exception traffic on Junos devices?

A. The Junos OS does not provide congestion control for exception traffic sent to the RE.
B. The built-in rate limiter for exception traffic is configurable.

C. All exception traffic destined for the RE is sent over the out-of-band management link.
D. The Junos OS has a built-in rate limiter for exception traffic.

Answer: D

NEW QUESTION 106
- (Exam Topic 2)
Which two statements are true about the default behavior of Junos routing policies? (Choose two.)

A. Routing policies can export active and inactive routes.

B. Routing policies can export only active routes.

C. Routing policies control the flow of routing information going to and from the routing table.

D. Routing policies control the flow of routing information going to and from the forwarding table.

Answer: BC

NEW QUESTION 108

- (Exam Topic 2)

A Junos device is in a factory-default configuration and no host name is set. What is used in place of a host name in this scenario?
A. amnesiac

B. router

C. Junos

D. user

Answer: A
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NEW QUESTION 111
- (Exam Topic 2)
What are two benefits realized by the disaggregated Junos? (Choose two.)

A. There is increased flexibility to use different control plane versions.

B. The Junos VM becomes hardware-independent and can be deployed on any hypervisor without modification.

C. The architecture facilitates programmability through provisioning the control plane, the data path, and the platform APIs.
D. The platform drivers and forwarding engine are removed from the control plane to increase performance.

Answer: CD

NEW QUESTION 115
- (Exam Topic 2)
What are three functions of the RE? (Choose three.)

A. to maintain the forwarding tables
B. to enforce stateless firewall filters
C. to manage the PFE

D. to monitor the chassis

E. to implement policing

Answer: ABD

NEW QUESTION 120
- (Exam Topic 2)
Referring to the exhibit,

Name CHASSISD TERM SIGNAL

Message Received SIGTERM request, shutting down
Help chassisd received termination signal
Desc The chassis process (chassisd) received the SIGTERM signal,

indicating that it should termunate. It began the procedure for clean
shutdown and exit, but possibly restarted automatically alter existing.

Type Event: This message reports an event, not an error
Sev Info

Facility LOG DAEMON

Platforms Supported  Common Junos

which command will cause this event message?

A. request system logout
B. request system commit
C. request system recover
D. request system halt

Answer: D

NEW QUESTION 122

- (Exam Topic 2)

You are in configuration mode at the top of the hierarchy. How would you save your configuration
to a file on the router?

A. save configuration <filename>
B. save config <filename>

C. save <filename>

D. save run <filename>

Answer: C

NEW QUESTION 127

- (Exam Topic 2)

What is minimum configuration required for a Junos device to respond to SNMP requests?
A. set snmp community public authorization read only
B. set snmp public version v2

C. set snmp community public

D. set snmp trap-group public version v1

Answer: C

NEW QUESTION 129

- (Exam Topic 2)

What are three characteristics of Layer 2 switches? (Choose Three)

A. Layer 2 switches separates multicast domains.
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B. Layer 2 switches separates collision domains.

C. Layer 2 switches forward traffic addressed to hosts that reside on the same collision domain.
D. Layer 2 switches forward traffic addressed to hosts that reside on a different collision domain.
E. Layer 2 switches forward broadcast traffic.

Answer: BDE

NEW QUESTION 134
- (Exam Topic 2)
What is the default firewall filter behavior when a term is matched but no terminating action is specified?

A. an implicit deny and the filter evaluation terminates

B. an implicit accept and the filter evaluation terminates

C. an implicit accept and the filter evaluation continues to the next term
D. an implicit deny and the filter evaluation continues to the next term

Answer: C

NEW QUESTION 138
- (Exam Topic 2)
Which two interfaces are considered physical interface? Choose TWO

A. Ge-0/0/0

B. Et-3/0/0:0.501
C. Et-7/1/4:0

D. Xe-10/2/1

Answer: AD

NEW QUESTION 141
- (Exam Topic 2)
When you first log in to a router, how does the router indicate that factory defaults are being used? Junos Configuration Basics

A. The router's host name is Amnesiac.

B. The password you used to log in is junos.

C. The router immediately enters configuration mode after you log in.
D. The router allows you to enter configuration mode without logging in.

Answer: A

NEW QUESTION 146
- (Exam Topic 2)
Which parameter would you use to prohibit the redistribution of a static route used for management traffic?

A. no-readvertise
B. discard

C. reject

D. passive

Answer: A

NEW QUESTION 147
- (Exam Topic 2)
Which command is used to replace the current configuration?

A. load replace
B. load patch
C. load override
D. load set

Answer: C
NEW QUESTION 151

- (Exam Topic 2)
Click the Exhibit button.

[edit]
user@router# show system authentication-order

authentication-order [ radius password ];

A user attempts to log in to a Junos device. but the RADIUS server is unreachable. Referring to the exhibit, what is the default action of a Junos device in this
scenario?

A. The Junos device retries every 30 seconds until the connection is restored.
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B. The Junos device uses the local authentication database.
C. The Junos device displays a RADIUS connection error.
D. The Junos device prompts for a cached RADIUS password.

Answer: C

NEW QUESTION 152
- (Exam Topic 2)
Referring to the exhibit,

Io0: 2001:db8::2/128

‘fb—DIZFU.l

= fe-1/2/0.11L ]
[00: 2001:db8::1/128 fe-0/2/1.1

2 L -

= £6-0/3/0.1
[00: 2001:db8::3/128

which dynamic routing protocol would be used for this topology?

A. IGMPV3
B. OSPFv2
C.RIPng
D. RIP

Answer: C

NEW QUESTION 155
- (Exam Topic 2)
At which hierarchy would you configure a static MAC address for interface ge-0/0/0?

A. [edit interfaces ge-0/0/0 unit 0]

B. [edit interfaces ge-0/0/0]

C. [edit interfaces ge-0/0/0 unit O family inet]

D. [edit interfaces ge-0/0/0 unit O family inet address 172.25.11.2/24]

Answer: D

NEW QUESTION 158
- (Exam Topic 2)
Exhibit:
{master:0}[edit routing-instances]
root@switch# top set interfaces xe-0/0/39.0 family ethernet-switching

Which statement is true about the command shown in the exhibit?

A. There needs to be a ; after top for the command to be accepted as a valid command.
B. Only top should be used, no other options are allowed on the same line.

C. The command shown in the exhibit would be accepted as a valid command.

D. If you replace top with up command, it becomes valid.

Answer: C

NEW QUESTION 163
- (Exam Topic 2)

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy JNO-104 dumps

@ 2 P QsseaQs LJ https://lwww.2passeasy.com/dumps/IJNO-104/ (138 New Questions)

What does the number inside the square bracket represent?

A. Metric

B. Local preference

C. Protocol reference number
D. Route preference

Answer: D

Explanation:

https://www.juniper.net/documentation/us/en/software/junos/bgp/topics/ref/lcommand/show-route.html#show-ro Module 9 of Juniper Open Learning, Routing
Fundamentals describes the [Source/Route Preference]. The metric is 'how' a protocol calculates the best path to a destination. RIP = Hops, OSPF = Cost. Metrics
are unigue to protocols.

user@host> show route

inet.0: 11 destinations, 12 routes (11 active, 0 holddown, O hidden)

+ = Active Route, - = Last Active, * = Both 1:65500:1:10.0.0.20/240

*IMVPN/70] 19:53:41, metric2 1

Indirect

1:65500:1:10.0.0.40/240

*BGP/170] 19:53:29, localpref 100, from 10.0.0.30 AS path: |

> t0 10.0.24.4 via It-0/3/0.24, label-switched-path toD [BGP/170] 19:53:26, localpref 100, from 10.0.0.33 AS path: |

> t0 10.0.24.4 via 1t-0/3/0.24, label-switched-path toD inside square brackets -> route preference

metric and localpref are optional and after the date

NEW QUESTION 167
- (Exam Topic 2)
When multiple users are editing the configuration on a Junos device, What is the default behavior when a user issues a commit command?

A. The user’s configuration changes are committed, other users configuration changes are still pending

B. The user’s configuration changes are committed, other users will be exited from the configuration mode
C. All valid configuration changes made by all users will take effect

D. The user will receive an error message disallowing a commit of the configuration

Answer: A

NEW QUESTION 172
- (Exam Topic 2)
Which two commands would you use to reset the candidate configuration to the active configuration? (Choose two.)

A. rollback O
B. rollback 1
C. rollback 2
D. rollback

Answer: AD

NEW QUESTION 174
- (Exam Topic 2)
What information would you find using the CLI help function? (Choose two.)

A. tip of the day

B. Junos technical publications

C. explanation of specific system log error messages
D. explanation of traceoption events

Answer: AC

NEW QUESTION 175
- (Exam Topic 2)
Which two statements describe the connection between control plane and the forwarding plane?
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Choose Two

A. No rate limiter is configured by default

B. A rate limiter is configured by default

C. Exception traffic is preferred over the control traffic during congestion
D. Control traffic is preferred over the exception traffic during congestion

Answer: AD

NEW QUESTION 177
- (Exam Topic 2)
Exhibit:
[edit snmp]
user@router# show
community my-community |
authorization read-only;
clients |
10.21.15.16/32;
J
}
trap-group my-first-trap-group
version v2;
categories |
chassis;
link;
}
targets |
10.21.15.180;
}
}
trap-group my-second-trap-group ({
targets |
10.21.15.181;
I
}

Referring to the exhibit, which statement is true?

A. Traps are allowed from 10.21.15.180
B. Traps are sent to 10.21.15.180

C. Traps are sentto 10.21.15.16

D. Traps are allowed from 10.21.15.16

Answer: D

NEW QUESTION 178

- (Exam Topic 2)

Which command is used to validate the syntax of a configuration without applying the
configuration?

A. commit check

B. commit confirmed
C. commit synchronize
D. commit and-quit

Answer: A

NEW QUESTION 183
- (Exam Topic 2)
Which two interfaces are considered as physical interface? (Choose two.)

A. xe-1/1/1
B. ge-2/0/2.0
C. et-5/0/0
D.ael.l

Answer: AB

NEW QUESTION 188
- (Exam Topic 2)
Which set of IP addresses are in the same subnet?

A. 185.114.16.91/28 and 185.114.16.96/28
B. 185.114.16.77/28 and 185.114.16.82/28
C. 185.114.16.40/28 and 185.114.16.45/28
D. 185.114.16.59/28 and 185.114.16.82/28

Answer: C
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NEW QUESTION 192
- (Exam Topic 2)
Which command causes the Junos OS to temporarily activate a configuration?

A. commit and-quite
B. commit synchronize
C. commit check

D. commit confirmed

Answer: D

NEW QUESTION 197

- (Exam Topic 2)

You are in configuration mode at the top of the hierarchy. You need to abort the changes that you have made and start again with a fresh copy of the active
configuration. Which command should you use to accomplish this task?

A. rollback 0

B. load active

C. reset config

D. clear candidate config

Answer: A

NEW QUESTION 199
- (Exam Topic 2)
Which keystroke is used to auto-complete user-defined variables?

A. Spacebar
B. Home

C. Esc

D. Tab

Answer: D

NEW QUESTION 200
- (Exam Topic 2)
Which two interfaces are considered logical interfaces? (Choose two.)

A. xe-1/1/1
B. ge-2/0/2.0
C. et-5/0/0
D. ael.l

Answer: CD

NEW QUESTION 202

- (Exam Topic 2)

You must configure the 2bfc:0000:0000:beef:0217:cbff:0000:5¢85 IPv6 address on your device. In this scenario, which three addresses are correct? (Choose
three.)

A. 2bfc::beef:217:cbff:0:5¢85

B. 2bfc:0:0:beef:0217:cbff:0:5¢c85
C. 2BFCnBEEF:0217:CBFF:0:5C85
D. 2bfc:0:beef:0217:cbff:0:5¢85

E. 2BFC::BEEF:217:CBFF::5C85

Answer: ABC

NEW QUESTION 204
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